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*Ji!i;J!ll-ifI : Silli1&JiJJ..t9'1L,,r.tJJL1"1 . ~~ - 'Ii'+, · . 
i!b'i:!ll-ifI : ;\lllfl'l'fPM)'6~'4~~~1>!0"1 ~ • ~ 
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''< t:=- , '~ ff% iffia=5~~ ~flt 5 
1~m ~111 ~ii 

1 ~*~~3f§ 1' 10 26 260 

2 ~_rm~ 1' 2 112 224 

3 ~im~ffli 1' 4 32 128 

4 iJ11;~f§T-x1~~ 1' 1 7 7 

5 5¥1~~fSf!W 1' 2 50 100 

6 "iI~fR*~~ ~ 1 15 15 

7 $l'JI~#f&-~§~~~ ~ 1 15 ' 15 

8 ~T-~cx1r#~ 1' 2 6 12 

9 *3@,*i:m~ ~ 4 30 120 .an 

10 1J,fBJ Lt~fi:~ ~ 1 45 45 .an 

11 ~If&~IJ'~ 1' 4 65 260 

12 *~*~cx1~~~~mx:Z ~ 1 35 35 .an 
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*!i!l;J.1!l.UL : i51ilJl&JIJJ..t 'l'"L"!:!JJ ~Im ~ ~ f ~ ~ 
~tll.1!l.1.V: : illl'tMrM~il5f4~~~1'~i5J ~ -iC ~ 

~ ~ 
~mB1fSJ : 2025i:F4F.l 15% \ ~~) 

e , t1'i - I 
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ff-% jij"~~f$ ~1:v: ~- ~f)f ~~ 

1 PVC±tM&~ ~ 2 10 20 

2 KTt,&240*120 ±~ 2 ~ 

3 =EfBt.&:120-240 ±~ 2 186 372 

4 ~tsI*~J ~ 2 6 12 LID. 

s :x~ ~ 4 20 80 LID. 

6 P9*ffl~*4 ( u I ~ I ~ I ~I ~) HR 5 15 75 

7 P9*ffl~*48ts HR 3 15 45 

8 ~~~ ~ 5 5 25 

9 :fffj~7J<Eg~ts37..kff1 1' 2 35 70 

10 ~tt : 699:TG 
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